

Central effects of camphor on GnRH and sexual hormones in male rat

Sima Shahabi^{1,3*}, Seyed Gholam Ali Jorsaraei², Ali Akbar Moghadamnia^{1,3}, Ebrahim Zabihi^{1,3}, Seyed Mohsen Aghajani¹, Seyedeh Narges Mousavi Kani¹, Roghieh Pourbagher¹, Seyed Ahmad Hosseini⁴, Mohsen Esmaili⁴, Ali Asghar Yoonesi⁴, Amin Zarghami⁴, Farid Alinezhad⁴

1. Cellular and Molecular Biology Research Center (CMBRC), Babol University of Medical Sciences, Babol, Iran.
2. Fatemeh Zahra Fertility and Infertility Reproductive Health Research Center, Babol University of Medical Sciences, Babol, Iran.
3. Department of Physiology and Pharmacology, Babol University of Medical Sciences, Babol, Iran.
4. Student Research Committee, Babol University of Medical Sciences, Babol, Iran.

Submitted 18 February 2013; Accepted 3 March 2013

In Persian traditional medicine is believed that camphor (a crystalline ketone obtained from *cinnamomum camphora*) is a suppressor of sexual behaviors. This study examined the central effects of camphor on sexual hormones (LH, FSH and testosterone) and GnRH plasma levels in male rat.

Male Wistar rats weighing 250-260gr were selected and divided into control (no treatment), sham (ICV injection of EtOH 10%) and treatment (ICV injection of camphor in three doses 4, 20, 40 µg/ 10µl in alcohol) groups. The serum samples were used for assaying of GnRH, LH, FSH and testosterone.

There were no significant differences in the levels of hormones between the groups of study.

Despite the central administration of camphor in hypothalamus - pituitary - gonad (HPG) axis, no significant differences were seen in sex hormone's levels compared to the control. With this finding, it can be concluded that camphor may not effectively handle the axis via central pathway. These data recommend further studies of camphor on the HPG axis.

Key words: Camphor, GnRH, Hypothalamus - Pituitary - Gonad (H-P-G) Axis

Camphor (C₁₀H₁₆O) is a waxy, white crystalline substance or transparent with a solid form and a strong aromatic odor. It is a ketone body from camphor laurel wood (*cinnamomum camphora*), a large evergreen tree found in Asia (1-3). It can also

be synthetically produced from oil of turpentine. Solubility of camphor is 1 g about 800 ml water, 1 ml alcohol, 0.5 ml chloroform and 1 ml ether, freely soluble in carbon disulfide, and volatile oils (3). Its ways of entering the body are through food, skin,

* Corresponding author: Cellular and Molecular Biology Research Center (CMBRC) of Babol University of Medical Sciences, Department of Physiology and Pharmacology, Babol, Iran. Email: sima.shahabi@ymail.com

eye contact and breathing (4). The symptoms of oral camphor poisoning have been reported as blurred vision, nausea, vomiting, colitis, dizziness, delirium, contraction of heart muscles, and difficulty in breathing, seizures and death. In large quantities, it is poisonous when ingested and can cause seizures, confusion, irritability and neuromuscular hyperactivity. Lethal doses in adults are in range 50- 500 mg/kg (orally). Generally 2 g causes serious toxicity and 4 g is potentially lethal. It was also reported as an irritant of the sexual organs (5-7).

Camphor can be absorbed from skin, GI (5-90 min after ingestion) and respiratory system. It is conjugated in the liver with glucuronic acid to become soluble in water. Camphor crosses the placental barrier it may be account for its embryo toxic effects (5).

Camphor has various applications in different countries especially the Asian countries. As a form of herbal medicine, it serves as antiseptic, anti-cold (8, 9), a synthetic drug in the form of ointments, lotion and gel for anti-insect bites, antimicrobial, embalming, firework, U.V filter cream, topical analgesic, anti-itching, skin cooling, anti-burns and sunburn (10). Also, it is used in plastic retrofitting against solar radiation, pesticides, shining materials, toilet products preservatives, cosmetics, religious ceremonies chewing gum and cigarette (8-10).

Camphor had been administered in cumulative doses to induce convulsion attacks in psychiatric patients (11).

Recent studies showed that organic compound such as camphor reduce cytochrome P₄₅₀ B₁ activity. This enzyme interferes with one of the key enzymes in the testosterone synthesis called 17- α hydroxylase. By reducing cytochrome, the mentioned enzymes function reduces, so testosterone diminishes (12-15). Some researchers investigated the impact of camphor in UV - filter ointment on gonadotropins and gonadal hormones

and concluded that camphor causes adolescent retardation and reduction in reproductive organs volumes in both sexes (16, 17). It has been shown in another study that the use of ointments containing camphor did not affect gonadotropins (LH and FSH) and testosterone (18) and it has also been demonstrated that UV - filters ointment inhibit 17 b - hydroxysteroid dehydrogenase type 3 which catalyzes the last step of testosterone synthesis in testicular leydig cells and plays an essential role during male sexual development (19).

Also, an adverse effect of camphor on rats causing a slight reduction of GnRH, LH and FSH (only in a low dose) was observed in an in vitro study (20). The effect of camphor on estrogenic gene expression (21) and estrogen receptor activity (22) was also studied.

According to Avesina's medicine, camphor is a suppressor of libido and acts as an effective element in reproductive system (23).

In Iran's folk medicine, camphor has been used as a suppressor of sexual activity. This study examined the effects of ICV (Intracerebroventricular) injection of camphor on LH, FSH, testosterone and GnRH hormones in male rat.

Materials and Methods

This study was approved by the Ethic Committee of Babol University of Medical Sciences (Babol, Iran). Male Wistar rats weighing 250 - 260 gr were used. The rats were kept under standard living regimens (12hrs lights on and 12hrs lights off) and access to rat chow and water *at libetum* (free feeding means free access to chow and water thereby allowing the animal to self - regulate intake according to its biological needs during the experiments).

Drugs and biochemical reagents

Camphor was obtained from FREY+LAU Co. (Germany) and Ethanol, Diethyl ether, Formalin, ketamine from Merck Co. (Germany).

Acrylic dental cement with solvent was purchased from Vertex Co. and Enzyme-linked immunosorbent assay (ELISA) Kit of Rat LH, FSH and Testosterone from USCN Life Science and Technology Company. LH-RH (GnRH) Kit of rat was purchased from Phoenix Pharmaceuticals Inc.

Surgical procedure

The rats were anesthetized with ketamine (75 mg/kg). For ICV injection, the rats were implanted with unilateral guide cannula (21 gauges). The stereotaxic coordinates for the cannulation into the lateral ventricle were as follows: AP -0.8 mm (from bregma), ML = 1.5 mm lateral (from midline), and DV = -3.5 mm ventral (from the surface of the skull). The incisor bar on the stereotax was set to 0.0 mm above the intraoral line (24). All animals were single housed following surgery, and were allowed to recover for 5 days before microinjections. Two stainless steel anchoring screws were fixed to the skull, and the cannula was secured in place by acrylic dental cement. The animals were allowed to recover for at least 5 days and were handled every day before the start of the experiments.

ICV injections

After 5 days of the establishment of ICV cannulation, 10 µl of vehicle and camphor + vehicle were injected using a 10 µl Hamilton syringe connected polyethylene tube with a 29-gauge to internal cannula. Fifty six male rats were selected and divided into control, sham and treatment groups. The control group did not receive any materials. Sham group, received ICV injection of the vehicle (Ethanol 10 %) and treatment groups received ICV injection of the camphor (4µg, 20µg, 40µg) per 10 µl solution. 10% alcohol was used as solvent, because it was one of the best solvents for camphor. The low dilution rate 10% was not a matter of concern. In many reports, alcohol dilution further than 15% affected the reproductive system (25). ICV injection was performed through the cannula implanted on rat brain by the stereotaxic

instrument, according to Paxinose Atlas with Hamilton syringe. The blood samples were collected from all animals by orbital sinus blood collection technique (26, 27) and were centrifuged and freezed at -20°C. Sera were used for GnRH, LH, FSH and testosterone measurement by rat specific ELISA kit.

Statistical Analysis

Data were analyzed using one way ANOVA followed by Tykey post-hoc test. The difference between data in each point was considered significant at $p < 0.05$.

Results

Serum GnRH and LH levels did not show any significant differences in camphor receiving rats in test group when compared with the control and sham groups.

FSH was decreased by the dose of 4 µg/ 10 µl ethanol and testosterone was increased by the dose of 4 µg/ 10 µl & 40 µg/ 10 µl ethanol. Although some differences were observed, but these differences were not significant (Table 1).

Discussion

As yet, the different results of camphor effects on the reproductive system were reported by several researchers (12-19). In Iranian folk medicine, camphor is a suppressor of sexual activity (23). In the present study we analyzed the GnRH, LH, FSH and testosterone plasma concentrations of male rats by ICV injections in various concentration of camphor. ICV injections could cause this effect, because drugs and materials can be transported in brain such as H-P-G axis via the cerebrospinal fluid of intracerebro-ventricular (28, 29).

GnRH and gonadotropins (LH, FSH) are a key regulator of neuroendocrine system in mammals. It is well known that the hypothalamic GnRH and hypophysis gonadotropins elicit spermatogenesis and sexual behavior by

Table1: GnRH, LH, FSH and testosterone concentration in adult male rats after receiving ICV injections of camphor (4, 20, 40 µg/10 µl ethanol 10 %) v.s control and sham groups.

Group	GnRH(Mean± SD) (ng/ml)	LH (Mean± SD) (mIU/mL)	FSH (Mean± SD) (mIU/mL)	Testosterone(Mean± SD) (nmol/L)
Control	0.15±0.35	29.76 ±18.62	2.84 ±0.07	1.01± 0.75
Sham	0.31± 0.00	29.13 ±15.80	1.09 ± 0.35	0.69 ± 0.50
4µg/10µl	0.45±0.07	32.41± 24.75	0.84 ± 0.01	1.69 ± 3.90
Test 20µg/10µl	0.30±0.14	38.24 ± 39.60	1.27 ± 0.80	1.54 ± 0.00
40µg/10µl	0.34± 0.42	43.18 ± 8.27	1.70 ± 2.05	4.48 ± 0.56

Values in table are presented with Mean ± SD; p <0.05

hypothalamic – pituitary – gonad (H-P-G) axis currency. Gonadal hormones such as testosterone in males have a negative feedback effect on the anterior pituitary and hypothalamus. This hormone has a strong direct effect on the anterior pituitary gland by inhibiting the secretion of gonadotropins and probably a direct effect on hypothalamus by decreasing the secretion of GnRH. Thus, whenever secretion of testosterone becomes too great, this automatic negative feedback effect, operating through the hypothalamus and anterior pituitary gland, reduces the testosterone secretion back toward the desired operating level and conversely too little testosterone allows the hypothalamus to secrete large amount of GnRH corresponding to an increase in anterior pituitary LH and FSH secretion and a consequent increase in testicular testosterone secretion (30).

In this study, the effect of ICV injection of camphor on GnRH, LH, FSH and testosterone concentrations showed no significant changes of GnRH and sexual hormones. GnRH induces spermatogenesis and sexual behavior by Hypothalamic – Pituitary – Gonad (H-P-G) axis. The effect of camphor on hypothalamic – pituitary – gonad (H-P-G) axis could be shown by ICV injection of camphor in guide canula.

Carou et al. 2008, investigated the effects of substances contained in camphor on male rats in vitro and found a reduction of GnRH (20). These results might be due to the use of camphor

derivatives instead of pure camphor and in vitro environment. But in the present experiment we used pure camphor through ICV injections.

The LH levels remained unchanged despite testosterone increase. Although the differences have been shown on testosterone concentration, but these differences are not significant and are independent of GnRH and LH levels. Our results can indicate that camphor does not exercise its effect through H-P-G axis. Our results also showed FSH decrease in one group. This reduction can be a direct effect (31) in this dose of camphor on FSH secretion but is not significant. There are some studies in contradiction with our findings. Some other researchers found that camphor component in UV filter ointment can interact with gonadotropins and gonadal hormones and concluded that camphor causes adolescence retardation and reduction of reproductive organs volumes in both sexes (16).

Also it was shown in another study that the use of ointments containing camphor did not affect gonadotropins (LH, FSH) and induces little changes of testosterone (18). In an other study, subcutaneous injection of camphor containing compound during 5 days on male rats caused slight GnRH, LH and FSH reduction (only in a low dose) as well (20). It is noteworthy that they used products containing camphor while we applied pure camphor. Thus, this difference may explain such controversy in our results.

It can be concluded that the microinjection

of pure camphor dissolved in 10% alcohol cannot affect the level of GnRH and sexual hormones. These data reinforce the need for further study of the camphor effect on hypothalamus - pituitary - gonad (H-P-G) Axis.

Acknowledgments

This study was supported by the Cellular and Molecular Biology Research Centre and animal breeding Center of Babol University of Medical Sciences. Authors would like to acknowledge for their support and collaboration.

Conflict of interest: Non declared.

References

1. Osawa H, Endo I, Hara Y, et al. Transient proliferation of proanthocyanidin-accumulating cells on the epidermal apex contributes to highly aluminum-resistant root elongation in camphor tree. *Plant Physiol* 2011;155:433-46.
2. Azadbakht M. Classification of Medicinal Plants. Tehran: Taimourzadeh; 1999. [Book in persian]
3. Guilbert J, Flamant C, Hallalel F, et al. Anti-flatulence treatment and status epilepticus: a case of camphor intoxication. *Emerg Med J* 2007;24:859-60.
4. <http://www.usp.org/pdf/EN/referenceStandards/msds/1087508.pdf>.
5. Manoguerra AS, Erdman AR, Wax PM, et al. Camphor Poisoning: an evidence-based practice guideline for out-of-hospital management. *Clin Toxicol* 2006;44:357-70.
6. Zuccarini P. Camphor: risks and benefits of a wide used natural product. *J Appli Sci Enviorn Manage* 2009;13:69-74.
7. Michiels EA, Mazor SS. Toddler with seizures due to ingesting camphor at an Indian celebration. *Pediatr Emerg Care* 2010;26:574-5.
8. Liu CH, Mishra AK, Tan RX, et al. Repellent and insecticidal activities of essential oils from *Artemisia princeps* and *Cinnamomum camphora* and their effect on seed germination of wheat and broad bean. *Bioresour Technol* 2006;97:1969-73.
9. Chatterjee N, Alexander GJ. Anticonvulsant properties of spirohydantoin derivatives from optical isomers of camphor. *Neurochem Res* 1986;11:1669-76.
10. Camphor; Gum Camphor; Laurel Camphor. *Camphora*

Officinarum." Drugstore Museum. http://www.drugstoremuseum.com/sections/level_info2.php?level_id=71&level=2 (accessed on September 29, 2005).

11. Pearce JM. Leopold Auenbrugger: camphor-induced epilepsy - remedy for manic psychosis. *Eur Neurol* 2008;59:105-7.
12. Mokhtari M, Sharifi E, Moghadamnia D. Effect of alcoholic extract of *Phoenix dactylifera* spathe on histological change in testis and concentrations of LH, FSH and testosterone in male rat. *IJBMS* 2007;9:265-71.
13. Barzegari F, Mirhosseini M. Effect of persian hogweed (*Heracleum persicum*) on the morphological changes in mice testis and the level of hormone testosterone. *RJMS* 2012;19:18-24. [Article in persian]
14. Mojab F, Nickavar B. Composition of the essential oil of the root of *Heracleum persicum* from Iran. *Iranian J Pharm Res* 2003;2:245-7.
15. Shiuam C, Michael C, Kimberly K, et al. Biochemical and biological characterization of a novel anti-aromatase coumarine derivative, from the department of surgical research and division of informational science. *J Biol* 2004;279:48071-87.
16. Schlumpf M, Schmid P, Durrer S, et al. Endocrine activity and developmental toxicity of cosmetic UV filters--an update. *Toxicology* 2004;205:113-22.
17. Durrer S, Ehnes C, Fuetsch M, et al. Estrogen sensitivity of target genes and expression of nuclear receptor co-regulators in rat prostate after pre- and postnatal exposure to the ultraviolet filter 4-methylbenzylidene camphor. *Environ Health Perspect* 2007;115 Suppl 1:42-50.
18. Janjua NR, Mogensen B, Andersson AM, et al. Systemic absorption of the sunscreens benzophenone-3, octyl-methoxycinnamate, and 3-(4-methyl-benzylidene) camphor after whole-body topical application and reproductive hormone levels in humans. *J Invest Dermatol* 2004;123:57-61.
19. Nashev LG, Schuster D, Laggner C, et al. The UV-filter benzophenone-1 inhibits 17 β -hydroxysteroid dehydrogenase type 3: Virtual screening as a strategy to identify potential endocrine disrupting chemicals. *Biochem Pharmacol* 2010;79:1189-99.
20. Carou ME, Ponzo OJ, Cardozo Gutierrez RP, et al. Low dose 4-MBC effect on neuroendocrine regulation of reproductive axis in adult male rats. *Environ Toxicol Pharmacol* 2008;26:222-4.

21. Maerkel K, Durrer S, Henseler M, et al. Sexually dimorphic gene regulation in brain as a target for endocrine disrupters: Developmental exposure of rats to 4-methylbenzylidene camphor. *Toxicol Appl Pharm* 2007;218:152-65.
22. Heneweer M, Muusse M, van den Berg M, et al. Additive estrogenic effects of mixtures of frequently used UV filters on pS2-gene transcription in MCF-7 cells. *Toxicol Appl Pharm* 2005;208:170-7.
23. Shrafkandi A. Avicenna. The Canon. Tehran: Soroush Press; 2010. [Book in persian]
24. Paxinose G, Watson Ch. The Rat Brain in Stereotaxic Coordinates: Elsevier Academic Press; 2007.
25. Lee HY, Naseer MI, Lee SY, et al. Time-dependent effect of ethanol on GnRH and GnRH receptor mRNA expression in hypothalamus and testis of adult and pubertal rats. *Neurosci Lett* 2010;471:25-9.
26. http://books.google.com/books/about/Methods_of_Animal_Experimentation_Resear.html?id=waMvAAAAIAAJ.
27. Hoff J. Methods of blood collection in the mouse. *Lab Animal* 2000;29:47-53.
28. McGowan BM, Stanley SA, Donovan J, et al. Relaxin-3 stimulates the hypothalamic-pituitary-gonadal axis. *Am J Physiol-Endoc M* 2008;295:E278-E86.
29. Thompson EL, Amber V, Stamp GWH, et al. Kisspeptin-54 at high doses acutely induces testicular degeneration in adult male rats via central mechanisms. *Brit J Pharmacol* 2009;156:609-25.
30. Gyton AC, Hall JE. Text book of medical physiology. Philadelphia: Elsevier Saunders; 2011.
31. McCann SM, Mizunuma H, Samson WK, et al. Differential hypothalamic control of FSH secretion: a review. *Psychoneuroendocrinology* 1983;8:299-308.